
l;=g+ gfd, y/ ^f]nsf] gfd kl/jf/ ;+Vof ;Dks{ g+= s}lkmot

1 c:dLtf bhL{ sgkf 12 4

2 ;Ltf bhL{ sgkf 12 5

3 g]q axfb"/ bhL{ sgkf 12 4

4 x:t axfb"/ cfn] sgkf 12 3

5 lnnf axfb"/ yfkf sgkf 12 5

6 /]s axfb"/ d[ªlrª sgkf 12 4

7 r'Qm axfb"/ yfkf sgkf 12 5

8 lxt axfb"/ &s"/L sgkf 12 4

9 eQm axfb"/ /fgf sgkf 12 5

10 *f]n axfb"/ yfkf sgkf 12 9

11 lj/ axfb"/ k"j{%fg] sgkf 12 4

12 *Da/ axfb"/ g]kfnL sgkf 12 7

13 hfg"sf kl/of/ sgkf 12 4

14 s[i)f axfb"/ ;fsL{ sgkf 12 4

15 e"jg u"d{%fg sgkf 12 4

16 g}g axfb"/ sd/ hf]uL sgkf 12 5

17 a"l$ axfb"/ d[ªlrª sgkf 12 2

18 o"Qm axfb"/ k"j{%fg] sgkf 12 3

19 wg axfb"/ du|ftL ;fjLs j*f g+= 8 3

20 lht axfb"/ g]kfnL ;fjLs j*f g+= 8 4

21 lx/fdfof yfkf ;fjLs j*f g+= 8 7

22 l/t axfb"/ sfsL{ ;fjLs j*f g+= 8 4

23 b]jL axfb"/ u"d{%fg ;fjLs j*f g+= 8 7

24 +̂s axfb"/ cfn] ;fjLs j*f g+= 8 7

25 b]jL axfb"/ cfn] ;fjLs j*f g+= 8 6

26 lnnf axfb"/ u"d{%fg ;fjLs j*f g+= 8 4

27 ;f]d axfb"/ /fgf ;fjLs j*f g+= 8 5

28 l*n axfb"/ cfn] ;fjLs j*f g+= 8 6

29 ygdfg n"d|]du/ ;fjLs j*f g+= 8 4

30 ldg axfb"/ cfn] ;fjLs j*f g+= 8 5

31 eb| s"df/L >]i& ;fjLs j*f g+= 9 1

32 kbd axfb"/ l;bfnL ;fjLs j*f g+= 9 4

33 /fd axfb""/ l;bfnL ;fjLs j*f g+= 9 5

34 gf/fo)f axfb"/ >]i& ;fjLs j*f g+= 9 4

35 e"n axfb"/ &s'/L ;fjLs j*f g+= 9 5

36 b]a axfb"/ du|ftL ;fsL{ ;fjLs j*f g+= 9 5

37 /f]s axfb"/ d"Qmfg ;fjLs j*f g+= 9 4

38 *Da/ axfb"/ g]kfnL ;fjLs j*f g+= 9 7

39 z+s/ /fpt ;fjLs j*f g+= 9 3

40 lg/ axfb"/ du/ ;fjLs j*f g+= 9 2

41 d"Qm axfb"/ l;bfnL ;fjLs j*f g+= 9 6

sdnfdfO{ gu/kflnsf

j*f g+= 12
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42 dbg du|ftL du/ ;fjLs j*f g+= 9 6

43 z"qm axfb"/ ;fsL{ ;fjLs j*f g+= 9 4

44 /]zd tf]nfª\u] ;fjLs j*f g+= 9 5

45 nf]s axfb"/ d"Qmfg ;fjLs j*f g+= 9 5

46 k|tfk l#l;ª ;fjLs j*f g+= 4 4

47 dfg l;+ lyª ;fjLs j*f g+= 4 6

48 sfnLbf; ;fsL{ ;fjLs j*f g+= 4 7

49 uf]kfn ;fsL{ ;fjLs j*f g+= 4 4

50 O{Gb| axfb"/ ;fsL{ ;fjLs j*f g+= 4 6

51 lgd{nf ;fsL{ ;fjLs j*f g+= 4 4

52 ;"s"dfof ;fsL{ ;fjLs j*f g+= 4 3

53 s"n axfb"/ :ofª\tfg ;fjLs j*f g+= 4 3

54 k+rlj/ ;fsL{ ;fjLs j*f g+= 4 5

55 rGb| axfb"/ ;fsL{ ;fjLs j*f g+= 4 4

56 k|]d axfb"/ l;+hfnL ;fjLs j*f g+= 4 4

57 lxdfn l;+bfnL ;fjLs j*f g+= 4 4

58 z+s/ ;fsL{ ;fjLs j*f g++= 6 4

59 b"uf{ bhL{ ;fjLs j*f g++= 6 4

60 dfg axfb"/ hf]uL ;fjLs j*f g++= 6 6

61 >Ldfg ljZjsdf{ ;fjLs j*f g++= 6 4

62 af]w s"df/L sf]O{/fnf ;fjLs j*f g++= 6 4

63 ljzfn yfkf ;fjLs j*f g++= 6 3

64 uf]ljGb /Dt]n ;fjLs j*f g++= 6 5

65 s"df/ yfkf ;fjLs j*f g++= 6 3

66 s"df/ bhL{ ;fjLs j*f g++= 6 4

67 ud{ axfb"/ e"h]n ;fjLs j*f g++= 6 4

68 pld{nf e"h]n ;fjLs j*f g++= 6 2

69 /d]z rf}xfg ;fjLs j*f g+= 7 3

70 ;d;]/ g]kfnL ;fjLs j*f g+= 7 7

71 x]d axfb"/ k"j{%fg] ;fjLs j*f g+= 7 5

72 k[YjL axfb'/ lj=s= ;fjLs j*f g+= 7 5

73 lg/ axfb"/ an ;fjLs j*f g+= 7 3

74 ;Demgf l#ld/] ;fjLs j*f g+= 7 4

75 lty{ axfb"/ kf)*] ;fjLs j*f g+= 7 4

76 z]/ axfb"/ l#l;ª ;fjLs j*f g+= 7 2

77 ;ljg hf]uL ;fjLs j*f g+= 7 8

78 tf/f axfb"/ an ;fjLs j*f g+= 7 2

79 zfGtLdfg kl/of/ ;fjLs j*f g+= 7 4

80 s"n axfb"/ ljZjsdf{ ;fjLs j*f g+= 7 1

81 d";] a;]n ;fjLs j*f g+= 7 4

82 ljgf]b kf}*]n ;fjLs j*f g+= 7 3

83 r]t axfb"/ kl/of/ ;fjLs j*f g+= 7 3

84 k|]d axfb"/ s '̂jfn ;fjLs j*f g+= 7 7

85 nfn axfb"/ tfdfª ;fjLs j*f g+= 7 5

86 pld{nf lj=s= ;fjLs j*f g+= 7 4

87 k"?iff]Qd g]kfnL ;fjLs j*f g+= 7 4



88 ljzfn g]kfnL ;fjLs j*f g+= 7 4

89 dfg axfb"/ lj=s= ;fjLs j*f g+= 7 7

90 s]bf/ >]i& ;fjLs j*f g+= 7 8

91 s)f{ axfb"/ d"Qmfg ;fjLs j*f g+= 7 6

92 e'Jfg dfemL ;fjLs j*f g+= 7 4

93 eQm axfb"/ /fgf ;fjLs j*f g+= 7 4

94 *f]d axfb"/ sfdL ;fjLs j*f g+= 7 2

95 b]j]Gb| lj=s= ;fjLs j*f g+= 7 7

96 uf]ljGb lj=s= ;fjLs j*f g+= 7 4

97 l*NnL axfb"/ lj=s= ;fjLs j*f g+= 7 8

98 wgnfn g]kfnL ;fjLs j*f g+= 7 5

99 cDa/ axfb"/ g]kfnL ;fjLs j*f g+= 7 4

100 ejgfy Gof}kfg] ;fjLs j*f g+= 7 5

101 lzjhL sfdL ;fjLs j*f g+= 7 2

102 xg"dfg sfdL ;fjLs j*f g+= 7 2

103 +̂s axfb"/ dfemL ;fjLs j*f g+= 7 5

104 afn s"df/L dfemL ;fjLs j*f g+= 7 4

105 ;Ltf tf]nfª\u] ;fsL{ ;fjLs j*f g+= 7 7

106 ]̂s axfb"/ e"h]n s ;fjLs j*f g+= 7 6

107 tf]q axfb"/ e"h]n ;fjLs j*f g+= 7 5

108 k|]d axfb"/ e"h]n ;fjLs j*f g+= 7 5

109 gf/o)f axfb"/ cfn] ;fjLs j*f g+= 8 4

110 ;ljg tfdfª ;fjLs j*f g+= 7 5


